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KPACHOOAPCTAT

BAITOBOWU PEFTMOHATbHbIN NPOAYKT KPACHOOAPCKOIO KPASA
B CPABHEHUU C PETMOHAMU IOXXHOIO ®EOEPAJIBHOIO OKPYTA

Banoson

pernoHarbHbIN 2 616 8
nNpoayKT )

MIp4
pyonen

KpacHogapckuin kpan
PocTtoBckas obnactb
Bonrorpaackas obnactb
AcTpaxaHckasi obnactb
Pecnybnnka Kpbim
Pecnybnvka Agbires
r.CesacTononb

Pecnybnuka Kanmbikusi

s 460,7
HacelneHunsda b)

AcTpaxaHckasi obnacTtb

KpacHopapckun kpan

KOXHbI dheaepanbHbIv
OKpyr

PocTtoBckas obnactb
Bonrorpaackas obnactb
Pecny6nvka Kanwvbikus
Pecnybnuka Agbires
r.Ceactononb

Pecny6nunka Kpbim

NHpekc
dm3nyeckoro 9 8 ’ 2%

obbema

Pecnybnuka Agpires
Pecnybnuka Kpbim

AcTpaxaHckasi 06nacTb

HOxHbIV heaepanbHbIin
OoKpyr

Bonrorpaackas obnactb
KpacHogapckun kpan
PocToBckas obnactb

r.CeacTtononb

Pecnybnuvka Kanmbikus
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